Date : 24th Jan 2024

TTHIE

DAILY

SSC Banking WB Police

Q:1 Direction: In each of these questions, two equations
() and (ll) are given. You have to solve both equations
and mark the appropriate answer.

l.4x?-9/4=0

I.y’+6y-7=0

1.x>y

2.x<y

3.x2y

4.x<y

5. x = y or relationship between x and y can't be
established

Q:2 Direction: In each of these questions, two equations
() and (ll) are given. You have to solve both equations
and mark the appropriate answer.

. 4x?/9-1=0
I.y*-2y-8=0
1. x>y
2.x<y
3.x<y
4.xzy

5. x = y or relationship between x and y can't be
established

Q:3 Direction: In each of these questions, two equations
() and (ll) are given. You have to solve both equations
and mark the appropriate answer.

I.x>-5x+6=0
I.y?-4=0
1.x>y
2.x<y
3.x<y
4.x2y

5. x = y or relationship between x and y can't be
established

Q:4 Direction: In each of these questions, two equations
(I) and (ll) are given. You have to solve both equations
and mark the appropriate answer.

I.x2 +13x-48=0

I.6y>+17y-3=0

1. x>y

2.x<y

3.x<y

4.x2y

5. x = y or relationship between x and y can't be
established
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Q:5 Direction: In each of these questions, two equations
() and (Il) are given. You have to solve both equations
and mark the appropriate answer.

I x2-8x+15=0

II.2y?-13y/2-6=0

Y

LX<y

XSy

X2y

5. x = y or relationship between x and y can't be
established

HOWN =

Q:6 Direction: In each of these questions, two equations
() and (Il) are given. You have to solve both equations
and mark the appropriate answer.

.x2+x-2=0

.y’ +2y-15=0

1. x>y

2.xzy

3.x<y

4.x<y

5. x = y or relationship between x and y can't be

established.

Q:7 Direction: In each of these questions, two equations
() and (Il) are given. You have to solve both equations
and mark the appropriate answer.

I.2x2+5x+3=0

1.8y’ +6y+1=0

1.x>y

2.x>y

3.x<y

4.xzy

5. x = y or relationship between x and y can't be
established.

Q:8 Direction: In each of these questions, two equations
(I) and (ll) are given. You have to solve both equations
and mark the appropriate answer.

I.x2+13x+42=0

Il.4y% +7y-15=0

1. x>y

2.xz2y

3.x<y

4.x<y

5. x = y or relationship between x and y can't be
established.
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Q:9 Direction: In each of these questions, two equations
() and (ll) are given. You have to solve both equations
and mark the appropriate answer.

l. 4x%-24x +35=0

11.8y%-6y+1=0

1.x>y

2.xzy

3.x<y

4.x<y

5. x = y or relationship between x and y can't be
established.

Q:10 Direction: In each of these questions, two equations
() and (ll) are given. You have to solve both equations
and mark the appropriate answer.

15X+ 19x+ 6 =0

I.6y>-5y-1=0

1. x>y

2.xzy

3.x<y

4.x<y

5. x = y or relationship between x and y can't be
established.
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1. (5) 2. (5) 3. (4) 4. (5) 5. (5)
6. (5) 7.(3) 8. (3) 9. (1) 10. (3)

[Answers and Solutions

y or

Q:1 The correct answer is option 5 i.e. x =
relationship between x and y can't be established
Equation | Equation Il

4x”-9/4 =0 Z4+6y-7=0
(2x)%- (3/2)> =0 Y +7y-y-7=0
(2x +3/2)(2x-3/2) =0 (y-1)(y+7)=0

x =-3/4,3/4 =1,-7

We can analyse,

Value of x Value of y Result

-3/4 1 X <y

-3/4 -7 X >y

3/4 1 X <y

3/4 -7 X >y
Hence, relationship between x and y can't be

established.

Q:2 The correct answer is option 5 ie. x =
relationship between x and y can't be established

y or

Equation | Equation Il
Ax?/9-1=0 2.2y-8=0
(2x/3)*-1=0 2+2y-4y-8=0
2x/3 + 1)(2x/3-1) =0 (y+2)-4(y+2)=0
x =-3/2,3/2 (y-4)(y+2)=0
=4,-2
We can analyse,
Value of x Value of y Result
-3/2 4 X <y
-3/2 -2 X >y
3/2 4 X <y
3/2 -2 X >y

Hence,
established.

Q:3 The correct answer is option4i.e. x2y

Relationship between x and y can't be

Equation | Equation Il
X*-5x+6=0 24+2y-8=0
X*-3x-2x+6=0 24+ 4y-2y-8=0

x(x-3)-2(x-3)=0

(y+2)-2(y+2)=0

(x-3)(x-2)=0

(y-2)(y+2)=0

X =3, 2

=2,-2

9 Asutosh Mukherjee Road, College Para, Hathi More, Siliguri, West Bengal

QO +91 - 8436586516, +91-8436900456

B thedhronas@gmail.com

@ thedronas.com

Other Competitive Exams

We can analyse,

Value of x Value of y Result
3 2 X >y
3 -2 X >y
2 2 X =y
2 -2 X >y

Hence, x2y

Q:4 The correct answer is option 5 ie. x =
relationship between x and y can't be established

y or

Equation | Equation Il
x> +13x-48 =0 6y”+17y-3 =0
x> - 3x + 16X - 48 = 0 6y”+17y-3 =0

6y” + 18y -y-3 =0
(6y-1)(y+3)=0

X(x-3)+16(x-3)=0
(x-3)(x+16)=0

x =3,-16 y=1/6,-3

We can analyse,

Value of x Value of y Result
3 1/6 X >y
3 -3 X >y
-16 1/6 X <y
-16 -3 X <Y

Hence, relationship between x and y can't be established.

Q:5 The correct answer is option 5 ie. x =
relationship between x and y can't be established.

y or

Equation | Equation I
X°-8x+15=0 2y?-13y/2-6=0

X - 5x-3x+15=0 4y% - 16y +3y-12 =0
X(x-5)-3(x-5)=0 Ay(y - 4) + 3(y - 4) =0
(x-3)(x-5)=0 (4y + 3)(y-4) =0
x=3,5 y =-3/4,4

we can analyse,

Value of x Value of y Result
3 -3/4 X >y
3 4 X <y
5 -3/4 X >y
5 4 X >y

Hence, x = y or relationship between x and y can't be
established

Q:6 The correct answer is option 5 ie. x =
relationship cannot be established.

y or the
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Equation 1 Equation 2 Q:9 The correct answer is option 1i.e. x>y
X°+x-2=0 2+2y-15:0 Equation 1 Equation 2

X% - X +2X-2 =0 2.3y +5y-15=0 Ax? - 24% + 35 =0 8y“-6y+1=0
X(x-1) +2(x-1) =0 (y-3)+5(y-3)=0 Ax%-14x-10x+35=0 |8y*-4y-2y+1=0
(x+2)(x-1)=0 (y+5)(y-3)=0 2x(2x-7)-5(2x-7) =0 l4y(2y-1)-1(2y-1) =0
X = -2, 1 y =-53 (2x - 5)(2x-7) =0 (4y-1)(2y-1)=0
We can analyse, X =5/2,7/2 y=1/4,1/2

Value of x Value of y Result We can analyse,

-2 -5 X >y Value of x Value of y Result
-2 3 X<y 5/2 1/4 X >y

1 -5 X >y 5/2 1/2 X >y

1 3 X<y 7/2 1/4 X >y
Hence, x = y or relationship between x and y can't be 7/2 1/2 X >y
established. Hence, x>y

Q:7 The correct answer is option 3 i.e. x<y

Equation 1 Equation 2
2x° + 5% +3 =0 8y’ + 6y +1 =0

Q:10 The correct answer is option 3 i.e. x<y

Equation 1 Equation 2
15x°+ 19X +6 =0 6y°-5y-1=0

2x2 +2x+3x+3=0

8y’ +2y+4y+1=0

2x(x+1)+3(x+1)=0

2y(4y + 1)+ 1(4y+1) =0

(2x +3)(x+1)=0

2y + 1)(4y+1)=0

152 +9x + 10X + 6 = 0

6y2-6y+y-1=0

3x(5x + 3) + 2(5x+3) =0

6y(y-1)+1(y-1)=0

(3x +2)(5x+3) =0

(6y+1)(y-1)=0

x =-3/2,-1 y=-1/2,-1/4 X =-2/3,-3/5 y=-1/6,1

We can analyse, We can analyse,

Value of x Value of y Result Value of x Value of y Result
-3/2 -1/2 X<y -2/3 -1/6 X <y
-3/2 -1/4 X <y -2/3 1 X<y
-1 -1/2 X <y -3/5 -1/6 X <Y
-1 -1/4 X<y -3/5 1 X<y
Hence, x <y Hence, x <y

Q:8 The correct answer is option 3 i.e. x <y

Equation | Equation I

X* + 13X + 42 = 0 4y° + 7y - 15 =0

X° +7X+6X+42=0  My*-5y+12y-15=0
x(x+7)+6(x+7)=0 (4y - 5)+3(4y—-5)=0
(x+7)(x+6)=0 (4y - 5)(y+3)=0

X =-7,-6 =5/4,-3

We can analyse,

Value of x Value of y Result
-7 5/4 X <y
-7 -3 X <Y
-6 5/4 X <Yy
-6 -3 X<y

Hence, x <y
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